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6 5G4GM5<. -F4 >=<74 744G<O64?4EL >4> E?D46>G=<> ?> 
G65 EGM5EF6GNM<< G7>D4< >>E < >4> >F?D46=4O F>G>4 
4?O E>744=<O =>6OE G7>D>6 <7 =<E. '5EF=>, 4465 ?>E?5 
40 ?5F D45>FO E >>E4<< <=5 >465FEO, GF> O F>?L>> =4G4-
?4 D4E>DO64FL <E ?>F5=F<4?. -F> G6?5>4F5?L=>5 ?GF5-
L5EF6<5, < O ?D<7?4L4N 64E ?D<E>54<=<FLEO >> <=5.

�4>?>=5==O= D>EF>> (#111) �LNM<=EO F65F>> (#114)
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�46=4O 
<=D>D<4F<O
�>EO D>D<<DGNFEO, >>744 
=5E>>?L>> ?5F5?L <5=O-
NFEO <5EF4<< E 4DG7<<< 
?5F?O<<. �D>M5 =5>G44. 
�O >EF46?O5F5 =5>>F>DO5 
?5F?< 6 EF>D>=5, ?>>4 
6O65F5 >EF4?L=O5, 4 74F5< 
6>76D4M45F5EL > =<<. 
� D57G?LF4F5 =4 ?>?>F=5 
?>?GG4NFEO >D4E<6O5 
?5D5??5F5=<O <?< ?5D5-
>D5M<64=<O. 

�D>EFO5 6<4O >>E 6O-
6GFEO GG?>G=>= 6O7>>=, 
6 >>F>D>= >>?<G5EF6> 
7445=EF6>64==OE ?5F5?L 
E>>F65FEF6G5F >>?<G5-
EF6G ?5F5?L, >EF46?5==OE 
6 EF>D>=5. �4G=<F5 <5=OFL 
?5F?N G7>D4 6=GFD< 
>>EO <?< <5=O=F5 G<E?> 
?5D5>D5M5==OE ?5F5?L 4 
64D<4=F>6 55E>>=5G=>5 
<=>65EF6>.
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�O5>D ?DO6<

�?O 6O74=<O >>E O ?D54?>G<F4N <=>7>E?>==GN ?DO6G. 
�4 EG5F E6>5= <=>7>E?>==>EF< >=4 7?44>4O < >DG7?4O, 
< ?>MF><G >>EO <7 F4>>= ?DO6< F>65 6O7?O4OF 7?44><<< 
< >DG7?O<<, ?>4G5D><64O >464O= <77<5 < ?5D5??5F5-
=<5. ,5DEFL >5?4445F 5>?LL>= M?4EF<G=>EFLN, GF> 
>G5=L E>D>L> ?> <=>7<< ?D<G<=4<. �5 D4EFO6<<>EFL 
G?D>M45F D45>FG E ?5D5>D5M<64=<5< ?5F5?L. &4>65 
L5DEFL ?57>> ?D>M45F >L<5><. �5F?< >5OG=> >EF4NFEO 
>D4E<6O<< < D>6=O<<, E7?46<64O =55>?LL<5 =54>G5FO 
6 =4FO65=<<.

�=>7<5 >><?4=<< ?D><76>4OF MF>F ?D5>D4E=O= 6<4 
?DO6<. �<65 ?D54EF46?5=O ?D><76>4<F5?<, ?DO65= 
>>F>DOE O ?>?L7>64?4EL 4?O 6O74=<O >5D47F>6 6 MF>= 
>=<75:

�?464 2 Imperial Yarn Erin
�?464 3 Blue Sky Alpacas Extra
�?464 4 Quince & Co. Lark
�?464 5 Jaggerspun Super Lamb
�?464 6 Quince & Co. Chickadee

�>=5G=>, >>EO <>7GF 6O7?O45FL >D4E<6> E ?N5>= ?DO-
65=, 4 =5 F>?L>> E <=>7>E?>==>=. � MF>= >=<75 O <E?>?L-
7>64?4 E4<O5 D47=O5 6<4O ?DO6< 4?O 6O74=<O >4564O.

�O5>D 6E?><>74F5?L=>= E?<FO

�>744 6O >EF46?O5F5 ?5F?< 6 EF>D>=5 6> 6D5<O 6O-
74=<O >>EO, >5OG=> 6O ?5D5><4O645F5 <E =4 4DG7GN 
E?<FG < 45D6<F5 55 ?5D54 <?< 74 D45>F>=. �?O MF>7> 
5EFL E?5F<4?L=O5 E?<FO (6E?><>74F5?L=O5 E?<FO <?< 
?5F?545D64F5?<), >4=4>> <>6=> >5>=F<EL < >5OG=O<< 
46GEF>D>==<<< E?<F4<<. �>4 6E?><>74F5?L=>= E?<F5= 
6 MF>= >=<75 O ?>4D47G<564N ?N5GN E?<FG, E >>F>D>= 
64< 5G45F G4>5=> D45>F4FL.

/ 6<45?4 45D56O==O5, <5F4??<G5E><5, ??4EF<>>6O5 
< 54<5G>>6O5 6E?><>74F5?L=O5 E?<FO. �>?LL4O G4EFL 
<7 =<E 5O?4 =5 5>?LL5 10 E<. �=< <>7GF 5OFL ?DO<O-
<<, 6>7=GFO<< 6 E5D54<=5 <?< E D55D<EF>= ?>65DE=>-
EFLN, GF>5O ?5F?< 5O?> ?57G5 45D64FL. �5>>F>DO5 
6E?><>74F5?L=O5 E?<FO <<5NF U->5D47=GN D>D<G, 
GF>5O >5?57G<FL ?5D5=>E ?5F5?L =4744 < =5 4464FL << 
E>E>>?L7=GFL. �GGL5 6E57>, >>744 4<4<5FD 6E?><>74-
F5?L=>= E?<FO =5<=>7> <5=LL5, G5< 4<4<5FD D45>G<E 
E?<F, => 6 F> 65 6D5<O 4>EF4F>G=> 5>?LL>=, GF>5O 

45D64FLEO =4 <5EF5 < =5 E>E>4?L7O64FL, >EF46?OO ?5F?< 
6<E5FL. �O5>D ?>4E>4OM5= 6E?><>74F5?L=>= E?<FO 
?>?=>EFLN 746<E<F >F 64L<E ?D54?>GF5=<=.

�E?>?L7>64=<5 46GEF>D>==5= 
E?<FO 6 >4G5EF65 6E?><>74F5?L=>=

�> 6D5<O 6O74=<O >>E 6 >4G5EF65 6E?><>74F5?L=>= 
E?<FO <=5 =D46<FEO ?>?L7>64FLEO 46GEF>D>==5= E?<F5= 
=4 >4<=-464 D47<5D4 <5=LL5, G5< <>< D45>G<5 E?<FO. 
�F?<G=> ?>4>=4GF 46GEF>D>==<5 E?<FO 4?<=>= 10 E<, 
=> O >5OG=> <E?>?L7GN E?<FO 4?<=>= 18 E<, ?>F><G GF> 
G <5=O >=< 6E5744 ?>4 DG>>=. �5>>F>DO5 EG<F4NF, GF> 
?>?L7>64FLEO 4?<==O<< E?<F4<< =5G4>5=>, >4=4>> O 
6OD45>F4?4 <5F>4<>G, ?>76>?ONMGN >><D>DF=> E =<<< 
D45>F4FL.

�>744 4?O >>EO =5>5E>4<<> G45D6<64FL ?5F?< 74 
D45>F>=, O >EF46?ON 6E?><>74F5?L=GN E?<FG 74 D45>F>= 
4> =44564=<O ?5F5?L. &4><< >5D47><, G <5=O =5F FDG4=>-
EF5= ?D< ?5D5=>E5 4?<==>= E?<FO 74 D45>FG.

�>E?5 F>7> >4> O E=O?4 ?5F?< =4 6E?><>74F5?L=GN 
E?<FG, O 74>D5??ON 55 ?56O= >>=5F 74 ?>?>F=>. &4><< 
>5D47><, 6E5 45D6<FEO =4 <5EF5 ?GGL5, G5< ?D< 6<EO-
M5= 6E?><>74F5?L=>= E?<F5, < >=4 =5 6OE>4?L7O645F 
<7 ?5F5?L. �4>D5??5=<5 6E?><>74F5?L=>= E?<FO =4 ?>-
?>F=5 F4>65 G<5=LL45F 65D>OF=>EFL F>7>, GF> =4G<=4-
NM4O 6O74?LM<F4 ?5D565D=5F >>EG =4 180°, F5< E4<O< 
?5D56>D4G<64O ?>DO4>> ?5F5?L (F.5. >D4==<5 ?56O5 
?5F?< EF4=GF >D4==<<< ?D46O<<). �E?< MF> ?D><7>=45F, 
6O, E>>D55 6E57>, 74<5F<F5, GF> GF>-F> ?>L?> =5 F4>, 
?>F><G GF> ?5F?< 5G4GF ?5D5>>L5==O<< < =54>>GD4F-
=O<< < 5G45F FDG4=55 6O74FL <?< E?>6=55 ?5D5><4O64FL 
?5F?< =4 ?56GN E?<FG.

�E=>6O
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�4>?>= 6?D46> <?< =4>?>= 6?56>

�4?D46?5=<5 >>EO 746<E<F >F F>7>, 745 6O >EF46?O5F5 
E=OFO5 ?5F?<: ?5D54 D45>F>= <?< 74 D45>F>=. �E?< ?5F?< 
>EF46?5=O ?5D54 D45>F>=, F> >>E4 5G45F ?5D5>D5M<64FL-
EO, =4>?>=OOEL 6?56>. �E?< ?5F?< >EF46?5=O 74 D45>F>=, 
F> >>E4 5G45F =4>?>=OFLEO 6?D46>. -F> =5 FD55G5F >F-
45?L=>7> 74?><<=4=<O (=> E> 6D5<5=5< 6O ?D<6O>=5F5), 
?>F><G GF> EE5<4 <?< <=EFDG>F<O 6E5744 ?>4E>46GF, GF> 
45?4FL.

'F>5O >EF46<FL ?5F?< ?5D54 <?< 74 D45>F>=, ?5D5-
=5E<F5 <E =4 6E?><>74F5?L=GN E?<FG (E<. <??NEFD4F<N 
E65DEG). �E?< 6O E>F<F5 >EF46<FL ?5F?< ?5D54 D45>F>= 
(F.5. <564G 64<< < 64L<< <745?<5<), F> 74D4=55 D4E?>-
?>6<F5 6E?><>74F5?L=GN E?<FG ?5D54 D45>F>=. �E?< 
6O E>F<F5 >EF46<FL ?5F?< 74 D45>F>=, F> D4E?>?>6<F5 
6E?><>74F5?L=GN E?<FG 74 64L5= D45>F>= 4> ?5D5=5-
E5=<O ?5F5?L =4 =55. �E?< 6O >5OG=> ?5D5=>E<F5 ?5F?< 
=4 6E?><>74F5?L=GN E?<FG, >>744 >=4 5M5 D4E?>?>65=4 
?5D54 D45>F>=, < 74F5< ?5D5=>E<F5 55 74 D45>FG, <564G 
64L<E 46GE D45>G<E E?<F, F> >5O74F5?L=> ?>?D>5G=F5 
<>= E?>E>5. �=5 >465FEO, GF> >= 7>D474> ?D>M5.

�5D5=>E ?5F5?L =4 6E?><>74F5?L=GN E?<FG

�E5744 E=<<4=F5 ?5F?< E 64L5= ?56>= E?<FO =4 ?56O= 
>>=5F 6E?><>74F5?L=>= E?<FO. �>744 6O 74>4=G<645F5 
?D>6O7O64=<5 E=OFOE ?5F5?L (?<F56O<< ?<5> <7=4=>G-

=O<< ?5F?O<<), 74>4=G<64=F5 E ?D46>7> >D4O 6E?><>74-
F5?L=>= E?<FO =4 ?D46GN D45>GGN E?<FG.

%>65FGN E=<<4FL 6E5 ?5F?< D47><, 4 =5 ?> >4=>=. �=5 
746<E<<>EF< >F 6O5D4==>7> 64<< <5F>44 6E5744 ?D<45D-
6<64=F5EL <EE>4=>7> =4?D46?5=<O ?5F5?L =4 E?<F5. -F> 
=47O645FEO E=OF<5< ?5F?< >4> <7=4=>G=>=, ?>F><G GF> 
E?<F4 6E>4<F 6 ?5F?< E ?D46>= EF5=>< < 6OE>4<F E ?56>=, 
>4> 5E?< 5O 6O 6O74?< =4<7=4=>G. �> =5 74F<>?<64=F5EL 
=4 MF><. -F> >G56<4=O= 6O5>D ?D< E=OF<< 5>?55 >4=>= 
?5F?< 74 D47. �4<5FLF5, GF> 6 MF>= >=<75 =5 G>47O645FEO, 
>4> >>=>D5F=> E=<<4FL ?5F?<. �>MF><G E=<<4=F5 <E >4> 
<7=4=>G=O5, 74 <E>?NG5=<5< E?GG456, >>744 ?> >4>>=-?<-
5> ?D<G<=5 ?5F?< =5>5E>4<<> E=<<4FL >4> ?<F56O5.

�D>6O7O64=<5 E=OFOE ?5F5?L

� <=EFDG>F<OE ?> 6O74=<N >>E G4EF> E>65FGNF ?D>-
6O7O64FL E=OFO5 ?5F?< ?DO<> E> 6E?><>74F5?L=>= 
E?<FO. �4?D<<5D, 6 MF>= >=<75 <>6=> 6EFD5F<FL F4>>5 
?D<<5G4=<5: «�<F4 E 6E?F». �O, >>=5G=> 65, <>65F5 
E?54>64FL <=EFDG>F<< < ?D>6O7O64FL ?5F?< E> 6E?>-
<>74F5?L=>= E?<FO. �<G=> <=5 F4> 45?4FL =5G4>5=>, 
?>MF><G O >5OG=> E=<<4N ?5F?< >5D4F=> =4 ?56GN 
E?<FG ?5D54 F5<, >4> =4G<=4N <E ?D>6O7O64FL. �=>744 
?D< F4>>< <5F>45 ?56O5 >D4==<5 ?5F?< <>7GF =5<=>7> 
D4EFO=GFLEO. �> 4?O <5=O G4>5=>EFL ?5D5=>E4 E=OFOE 
?5F5?L =4 D45>GGN E?<FG 646=55 ?N5OE =55>?LL<E 
D4EFO65=<=.

&>, >4> 6O 45D6<F5 6E?><>74F5?L=GN E?<FG 3 ?5D54 D45>F>= <?< 74 D45>F>=, 3 >?D545?O5F =4>?>= >>EO: =4>?>= 6?56> (?5D54 D45>F>=) <?< 

=4>?>= 6?D46> (74 D45>F>=).

�4>?>= 6?56>

�4>?>= 6?D46>

�56O= >>=5F 
6E?><>74F5?L=>= E?<FO

�D46O= >>=5F 
6E?><>74F5?L=>= E?<FO

�564O E?<F4
�D464O E?<F4
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/ 45?N >>EO =4 >>?>==O 

< ?<=<<. 

���������  O =47O64N ?5-
D5>D5M<64=<O, ?D< >>F>DOE 
?5F?< =4>?44O64NFEO 4DG7 
=4 4DG74. �=< <>7GF >5D4-
7>6O64FL 67GFO, >>E<G><, 
%->5D47=O5 < �->5D47=O5 
G7>DO, < <E 6E56>7<>6=O5 
E>G5F4=<O. �E5 >>EO 6> 6F>D>= 
< FD5FL5= 7?464E 6E>4OF 6 MFG 
>4F57>D<N. 

����/��  O =47O64N ?5D5>D5-
M<64=<O, 6OD>6=5==O5 F4>, 
GF> >>=5F >4=>7> EF4=>6<FEO 
=4G4?>< ?5D5>D5M<64=<O 
?>4 =<<, F> 5EFL ?5F?< 
?5D5<5M4NFEO ?> ?>?>F=G 
?> 4<47>=4?<. -F< ?<=<< 
<>7GF D>D<<D>64FL 7<7747<, 
65<GG6=O5 G7>DO < 4DG7<5 
D<7GDO. �F G<E?4 ?5D5<5M4-
5<OE ?5F5?L 746<E<F >DGF<7-
=4 ?<=<<. �E?>?L7GO F4><5 
>DGFO5 <77<5O =5E>>?L>> 
D47, 6O E<>65F5 E>74464FL 
6>?=<EFO5 ?<=<<, E?>6=> 
E>74464O D<EG=>> <7 >>E. �>-
EO-?<=<< 5EFL 6> 6E5E 7?464E 
MF>= >=<7<, => 5>?LL5 6E57> 
<E <>6=> 6EFD5F<FL 6 ?OF>= 
< L5EF>=. 

�>?>==O < ?<=<< <>6=> 
?>6F>DOFL < ?5D5??5F4FL, 
E>74464O L<D>><5 ?4=5?< 
< E??>L=O5 G7>DO. �4?D<-
<5D, <>6=> <E?>?L7>64FL 
?<=<< 6=GFD< >>?>==O <?< 
45?4FL 5>?LLGN ?4=5?L <7 
>>E E ?<=<O<< < >>?>==4<<. 
�4D<4=FO 55E>>=5G=O.

�D>EF4O >>E4, �7GF

�4=5?L, �5D5>D5M<64=<O, '7?O, �5=FO

�4=5?L, �5D5>D5M<64=<O, �5=FO

�4=5?L, �5D5??5F5==4O ?5F?O

�4=5?L, �5D5??5F5==O5 ?5F?<, �5=FO, 

�5D5>D5M<64=<O

115
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' 6O74=<O >>E4<< =5F «>D<F<4?L=>=» F5D<<=>?>7<<, < 74-
G4EFGN ?N4< <E?>?L7GNF >4=< < F5 65 E?>64, ?>4D47G<564O 
D47=O5 45=EF6<O < >>=5G=O5 D57G?LF4FO. �>MF><G ?<E4FL 
> >>E4E 5O645F E?>6=>. 'F>5O <>< <=EFDG>F<< 5O?< <4>-
E<<4?L=> OE=O<< < ?>=OF=O<<, =<65 O ?D<6>6G E?<E>> 
G4EF> <E?>?L7G5<OE <=>N E?>6 < >?D545?5=<= > =<<.

�$�%&/� ��%/  �>4 ?D>EFO<< >>E4<< O ?>=<<4N >>EO, 
>>F>DO5 G65 ?G5?<>>64?<EL 6 4DG7<E <EF>G=<>4E 
< <765EF=O <=>7<< 6O74?LM<F4<. � MF>= >=<75 O 44N 
EE5<O ?D>EFOE >>E ?<LL F>744, >>744 =4 =<E >E=>6O64-
5FEO >4=4 <?< =5E>>?L>> <><E 64D<4F<=.

�D>EFO5 >>EO 6O6GFEO GG?>G=>= 6O7>>=, < G<E?> 
>EF46?O5<OE ?5D54 <?< 74 D45>F>= ?5F5?L D46=> G<E?G 
?D>6O7O645<OE ?5F5?L. �4>, =4?D<<5D, 6 �D>EF>< 67G-
F5 3/3 (#1), 3 ?<F56OE ?5F?< ?5D5>D5M<64NFEO E 3 ?<-
F56O<< ?5F?O<<.

��%� ��� ��$��$�-����/ ��&�/  -F> >><5<=4F<O 
?5D5>D5M5==OE ?5F5?L, >5D47GNM<E G7>D. -F> <>65F 
>F=>E<FLEO >4> >> 6E5<G G7>DG, F4> < > >F45?L=O< ?5-
D5>D5M<64=<O< 6=GFD< =57>.

������/ �4=4 <7 46GE >4F57>D<=, =4 >>F>DO5 O D4745-
?ON >>EO (E<. E>E54=NN EFD4=<FG).

��$��$�-������  -F> <><5=F, >>744 7DG??4 ?5F5?L 
>EF46?O5FEO ?5D54 <?< 74 4DG7>= 7DG??>= ?5F5?L < 74F5< 
?D>6O7O645FEO F4>, GF>5O ?><5=OFL <5EF4<< ?>?>65=<5 
>55<E 7DG??. �=>744 O =47O64N ?5D5>D5M<64=<5 >>E 
?5D5<5M5=<5< ?5F5?L. �4?D<<5D, O <>7G =4?<E4FL «?5-
D5>D5EF<F5 3 ?5F?< =4 3 ?5F?< 6?56>» <?< «6O?>?=<F5 
?5D5>D5M<64=<5 >>EO <7 6 ?5F5?L».

'���  �55>?LL4O L<L5G>4, >>F>DGN <>6=> 6O?>?=<FL, 
=5 ?5D56>D4G<64O D45>FG. �4?D<<5D, >4> 6 &5=OE «�5=-
E?<» (#146).

����� �4=4 <7 46GE >4F57>D<=, =4 >>F>DO5 O D4745?ON 
>>EO (E<. E>E54=NN EFD4=<FG).

�����,  ,<D>>4O >>?>==4 <?< =5E>>?L>> >>E, >>F>DO5 
6O6GFEO DO4>< 4DG7 E 4DG7><.

��'&  -F>F G7>D, ?>E>6<= =4 67GF, 6>7=<>45F, >>744 ?D>-
EFO5 ?5D5>D5M<64=<O, F4><5 >4> 3/3 <?< 4/4, =4>?44O-
64NFEO 4DG7 =4 4DG74 6 >>?>==G. %<. �D>EF>= 67GF 3/3 
(#1) <?< �D>EF>= 67GF 4/4 (#8).

��$��$�-������  �>744 7DG??4 ?5F5?L 46<745FEO 6 ?<-
=<N < 5= FD55G5FEO =5E>>?L>> ?<F56OE DO4>6, GF>5O 
74>>=G<FL G7>D (?D>=F< >F =4G4?4 ?<=<< 4> >>=F4), 
O =47O64N >464>5 =5>5E>4<<>5 4?O MF>7> ?5D5E5G5=<5 
>>E ?5D5>D5M<64=<5<. � ?<=<<, <4GM5= E?564 =4?D46>, 

G 64E <>65F 5OFL =5E>>?L>> ?<F56OE DO4>6, >>F>DO5 
6O 6O65F5 ?D46O< ?5D5>D5M<64=<5<, ?5D5<5M4NM<< 
65DE=<5 (6<4<<O5) ?5F?< >464>7> ?5D5E5G5=<O >>E 
6?D46>. �464>5 <7 F4><E ?<F56OE ?5D5>D5M<64=<= 
=47O645FEO ?5D5>D5M<64=<5< 6 ?<=<<. �4?D<<5D, 
E<. �7=4=>G=4O ?5F?O 6 F5=FD5 2 ?5D5>D5M<64=<O (#6) 
<?< %6<=7 4 ?5D5>D5M<64=<O (#30).

���&� �5=F>= =47O645FEO G<E?> ?5F5?L, ?5D5<5M4N-
M55EO E>6>7L G7>D >>EO, >4> =4 >>D>F>>5 D4EEF>O=<5, 
F4> < G5D57 65EL G7>D. �5OG=> <>6=> 6O5D4FL ?5=FG 
6=GFD< >?D545?5==>7> G7>D4 < E?54>64FL ?> 55 ?5F?O< 
>F =4G4?4 >>?>==O/?<=<< 4> >>=F4. � >4G5EF65 <??N-
EFD4F<<: ?D54EF46LF5 DGG=>5 ?5D5??5F5=<5 FD5E ?5=F 
?DO6< D47=OE F65F>6, 74F5< 6O55D<F5 ?5=FG/F65F 
< E?54G=F5 ?> =5= >F =4G4?4 4> >>=F4, >>744 >=4 F> =4-
>?44O645FEO =4 4DG7<5 ?5=FO/F65F4, F> ?5D5>DO645FEO 
<<<. �5=FG <>6=> 45?4FL <7 6E5E ?<F56OE ?5F5?L, 6E5E 
<7=4=>G=OE ?5F5?L, E>6<5M5=<O ?<F56OE < <7=4=>G=OE 
?5F5?L, <?< 4465 <7 =4><4>6 6<5EF5 E> E5D4EO64=<O<<. 
�5=F4 <>65F D4745?OFLEO, < >4644O >F45?L=4O =>64O 
?5=F4 5G45F <4F< ?> D47=><G =4?D46?5=<N. �?< >=4 <>-
65F D4745?<FLEO < E>54<=<FLEO E G4EFO<< 4DG7>= ?5=FO 
(6D5<5==> <?< =4 6E5< >FD57>5).

��$����&����/ ��&�/  '?>FD55?OOEL 6 54<=EF65==>< 
G<E?5, ?5D5??5F5==4O ?5F?O >7=4G45F ?5F?N, >>F>D4O 
6O65FEO <7=4=>G=>= ?5F?5= =4 ?<F56>= <?< <7=4=>G=>= 
EF>D>=4E. �5D5??5F5==O5 ?5F?< 6> <=>65EF65==>< 
G<E?5 >7=4G4NF 465 ?5F?< (E<. =<65).

��$����&���/� ��&��  �5F>4 ?D>6O7O64=<O 46GE ?5F5?L 
557 <E?>?L7>64=<O 6E?><>74F5?L=>= E?<FO F4>, GF>5O 
>=< 6O7?O45?<, 5G4F> ?5D5>D5M5==O5. �=EFDG>F<< ?> 
6O74=<N ?<F56OE < <7=4=>G=OE ?5D5??5F5==OE ?5F5?L 
=4E>4OFEO 6 ?D<<5G4=<OE > >464><G >F45?L=><G G7>DG.
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/ 45?N 6O74?LM<F =4 464 F<?4. �EFL F5, >F> ?N5<F 
?>?L7>64FLEO F45?<F4<< < ?D>?<E4==O<< DO4 74 DO4>< 
L45?>=4<<. �4>>=G<6 E DO4><, >=< 74G5D><64NF 57> =4 
L45?>=5. �E?< <=EFDG>F<O 4?O =<E =54>EF4F>G=> 45F4?L-
=4 3 >=< D<EGNF F45?<FG <?< 4465 E4<< ?D>?<EO64NF 
>464O= DO4.

� 5EFL F5, >F> ?D54?>G<F45F 6<45FL <7>5D465=<5 
F>7>, GF> >=< 6O6GF. �< ?D>M5 E?54>64FL 74 E<<6>?><, 
?>E>6<< =4 ?D>6O7O645<GN <<< >>EG, G5< G<F4FL >?<E4-
=<5 >464>7> 45=EF6<O.

�> <><< =45?N45=<O<, 5>?LL<=EF6> 6O74?LM<F 
?D54?>G<F45F F>F <?< <=>= <5F>4. �>MF><G 6 MF>= >=<75 
O ?> 6>7<>6=>EF< ?D<6>6G >4> E?>65E=O5, F4> < 7D4-
D<G5E><5 <=EFDG>F<<. / ?D<6>6G EE5<G 557 <=EFDG>F<< 
?<LL 6 F5E E?GG4OE, >>744 >=4 >G5=L 6OE>>4O < L<D>>4O, 
?>F><G GF> ?<EL<5==>5 >?<E4=<5 >464>7> L474 74=O?> 
5O >G5=L <=>7> <5EF4.

� 5>?LL<=EF65 E?GG456 O ?N5?N ?>?L7>64FLEO 
EE5<4<<, =565?< <=EFDG>F<O<<; >E>55==> >>744 O 6O6G 
>>EO. �E?< 6O >F?>6<?< 6O74=<5 < G5D57 >4>>5-F> 
6D5<O > =5<G 65D=G?<EL, F> E> EE5<>= 64< 5G45F ?D>M5 
G6<45FL, 745 6O >EF4=>6<?<EL, < ED46=<FL 64L5 6O74=>5 
?>?>F=> E> EE5<>=, G57> =5?L7O E45?4FL E <=EFDG>F<5=. 
%?54GO <=EFDG>F<O<, 6O <>65F5 >F<5F<FL <5EF>, =4 >>-
F>D>< 6O >EF4=>6<?<EL. �4=4>> =4 ?D4>F<>5 O 74<5F<?4, 
GF> <=>7<5 6O74?LM<FO ?5D<>4<G5E>< 745O64NF MF> 
45?4FL < ?>F>< E FDG4>< =4E>4OF F> <5EF> =4 G7>D5, 745 
>=< >EF4=>6<?<EL.

�D< ?><>M< EE5<O ?D>M5 ?>=OFL, E>65DL<?< ?< 
6O >L<5>G < >4> <=>7> ?5F5?L 64< =G6=> D4E?GEF<FL, 
GF>5O 55 <E?D46<FL. �>EF4F>G=> ?>E<>FD5FL =4 E6>N D4-
5>FG < E65D<FL 55 E> EE5<>=. &4> >4> E<<6>?O 6 EE5<4E 
6O7?O4OF >4> >>EO, F> E> 6D5<5=5< 6O > =<< ?D<6O>=5F5 
< E<>65F5 D4E?>7=464FL <E E ?5D6>7> 677?O44.

�O, 46F>DO G7>D>6, >4> 5O =< EF4D4?<EL, <=>744 E>-
65DL45< >L<5>< < ?>D>= >=< <>7GF G=F< 6 ?5G4FL 4465 
?>E?5 FM4F5?L=>= ?D>65D>< EE5<O D544>F>D><. �> 5E?< 
6> 6D5<O 6O74=<O 6O 74<5F<F5 >L<5>G, F>, 677?O=G6 =4 
EE5<G, 6O, E>>D55 6E57>, E<>65F5 ?>=OFL, GF> 64< =G6=> 
<E?D46<FL, F4> >4> ?>=<5F5, GF> 5O?> 744G<4=>.

$45>F4O E> EE5<>=, 7>D474> ?D>M5 ?>=OFL, >4> 
G546<FL <?< ?D<546<FL ?5F?< 6 G7>D5, =565?< G<F4O 

<=EFDG>F<N. �E?< 6 <=EFDG>F<< 64< 6EFD5F<FEO DD474 
«6O74FL ?> D<EG=>G», F> 64< ?D<45FEO 4G<4FL, GF> >=4 
>7=4G45F; F>744 >4> EE5<O 44NF 64< 6<7G4?L=O5 ?>4-
E>47>< < 6O E ?57>>EFLN <>65F5 G6<45FL, GF> <45F E=4G4-
?4, 4 GF> 4 ?>E?5.

�E=>6O EE5<

$47>5D46L<EL E >E=>64<<, 6O E<>65F5 E ?57>>EFLN 
< 557 ?D>5?5< G<F4FL EE5<O. �>F =5E>>?L>> >E=>6=OE 
D5>><5=44F<=:

" %E5<4 =4D<E>64=4 F4>, GF>5O ?>>474FL 64<, >4> 5G45F 
6O7?O45FL ?<F564O EF>D>=4 ?>?>F=4. �E5 E<<6>?O 
?>>47O64NF F>, >4> ?5F?< 5G4GF 6O7?O45FL =4 ?<F56>= 
EF>D>=5.

" �4<= >644D4F EE5<O ?D54EF46?O5F E>5>= >4=G ?5F?N.

" �<F56O5 DO4O ?D>6O7O64NFEO ?> EE5<5 E?D464 =4?5-
6>. �7=4=>G=O5 DO4O ?D>6O7O64NFEO ?> EE5<5 E?564 
=4?D46>.

" �><5D DO44 D4E?>?4745FEO =4 EE5<5 F4<, 745 MF>F DO4 
=4G<=45FEO. �><5D4 ?<F56OE DO4>6 EF>OF E?D464 >F 
EE5<O, 4 =><5D4 <7=4=>G=OE DO4>6 3 E?564 >F EE5<O.

" �D54EF46LF5, GF> 6E5 ?><5G5=> F4>, >4> 5E?< 5O 6O 
E<>FD5?< =4 MF> E ?<F56>= EF>D>=O D45>FO. �>>5-
D47<F5 MF< ?><5F>< =4 64L5= D45>F5. �4>>=G<6 E 
?<F56O< DO4><, ?5D565D=<F5 D45>FG < ?D<EFG?<F5 
> <7=4=>G=>= EF>D>=5. �DO64 F5?5DL =4E>4<FEO =4 
>D4N, >>F>DO= 6O ?><5F<?< >4> ?56O=. �4> >5OG=>, 
6O 6O65F5 E?D464 =4?56>, =>, F4> >4> 6O D45>F45F5 
E <7=4=>G=>= EF>D>=>= 6O74=>7> ?>?>F=4, DO4 E?54G-
5F 6O74FL >F >D4O, ?><5G5==>7> >4> ?56O=, 4> >D4O, 
?><5G5==>7> >4> ?D46O=. %E5<4 F4>65 G<F45FEO 
E>7?4E=> >F<5F>4< =4 <745?<< 3 E?564 =4?D46>. �E?< 
=4?<E4==>5 6OL5 64< =5 4> >>=F4 ?>=OF=> 3 =5 55E-
?>>>=F5EL. �>D>= ?>?=>5 ?>=<<4=<5 ?D<E>4<F F>?L>> 
E ?D4>F<>>=.

" $4EL<DD>6>4 <E?>?L7>64==OE 6 EE5<5 E<<6>?>6 
<>65F D47?<G4FLEO 4?O ?<F56OE < <7=4=>G=OE DO4>6. 
%<<6>?O =4 EE5<5 ?>>47O64NF F>, >4> 5G45F 6O-

�=EFDG>F<< < EE5<O
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7?O45FL ?>?>F=> E ?<F56>= EF>D>=O, ?>MF><G ?D< 
D45>F5 E <7=4=>G=O<< DO44<< 6O 45?45F5 6E5 =4>5>-
D>F. �4?D<<5D, ?<F564O ?5F?O =4 ?<F56>= EF>D>=5 
>5>7=4G45FEO ?GEFO< >644D4F><. �> ?D< ?D>6O7O64-
=<< <7=4=>G=>7> DO44 ?GEF>= >644D4F =G6=> 6O74FL 
<7=4=>G=>= ?5F?5=, F4> >4> <7=4=>G=4O ?5F?O =4 
<7=4=>G=>= EF>D>=5 5G45F 6O7?O45FL >4> ?<F564O =4 
?<F56>= EF>D>=5. -F> G5F>> ?D>?<EO645FEO 6 ?D<<5-
G4=<OE >4> «?D>6O6<F5 �<F ? =4 �%» < «?D>6O6<F5 
�7= ? =4 �%».

" �=>744 ?>6F>DONM4OEO G4EFL G7>D4 6 =4G4?5 D4?-
?>DF4 45?<F >>EG ?>?>?4<. �>744 F4>>5 ?D><EE>4<F, 
?>6F>DONM4OEO G4EFL 6 >>=F5 D4??>DF4 F4>65 45?<F 
>>EG ?>?>?4<. �EF46L<5EO ?5F?< >>EO 6 =4G4?5 
< >>=F5 D4??>DF4 >5N54<=OFEO 6<5EF5 6 F5?GN >>EG. 
�4<5FLF5, GF> EE5<4 < <=EFDG>F<O > G7>DG =5 6E5744 
>4<=4>>6> >F>5D464NF D4??>DFO, => <F>7>6O= D5-
7G?LF4F 5G45F >4<=4>>6O<.

" �E?< 6O 6O65F5 ?> >DG7G, F> >DG7>6>= DO4 6E5744 
=4G<=45FEO E?D464. �E5 EE5<O 6 MF>= >=<75 <>7GF 
6O74FLEO ?> >DG7G, GF> GG<FO645FEO 6 ?D<<5G4=<OE. 

�4> =5 74?GF4FLEO 6 EE5<5

" $45>F4O E> EE5<>=, 6O 

<>65F5 E45?4FL 55 >>?<N 

4?O ?<G=>7> ?>?L7>64=<O 

(=> =5 D4E?D>EFD4=OFL 55). 

" �E?< 64< FDG4=> G<F4FL 

EE5<G, F> 55 <>6=> G65?<-

G<FL ?D< >>?<D>64=<<. 

�E?< EE5<4 4?<==4O, F> 

<=>744 55 =5>5E>4<<> 

E>>?<D>64FL =4 464 ?<EF4. 

� F4>>< E?GG45 G554<F5EL, 

GF> 6O =5 ?D>?GEF<?< 

=<>4><E DO4>6. �5=EF6<-

F5?L=> L<D>>GN EE5<G 

G4>5=> 5G45F E>>?<D>-

64FL ?>?>?4<, 4 74F5< 

6OD574FL < E>54<=<FL 465 

?>?>6<=O 6 >4=G EE5<G, 

GF>5O 64< =5 ?D<L?>EL 

G<F4FL DO4O, E<>FDO 

=4 464 >F45?L=OE ?<EF4. 

�?OFL 65, G554<F5EL, 

GF> 6E5 ?5F?< >EF4?<EL 

=4 <5EF5.

"'F>5O 64< 5O?> ?D>M5 E65-

DOFLEO E> EE5<>=, <E?>?L-

7G=F5 <47=<F=GN 4>E>G, 

F65F=>= ?>?G?D>7D4G=O= 

E>>FG, 4<74==5DE><= E>>FG 

<?< 5>?LL<5 EF<>5DO. �4-

>?5=F5 <E =44 =G6=O< DO-

4>< 4 MF> ?D<6?5G5F 64L 

677?O4 6 =G6=GN F>G>G. �>, 

5E?< 64< G4>5=55 >?5<FL 

<E ?>4 =G6=O< DO4><, F> 

MF> F>65 E>D>L<= 64D<-

4=F. �4<= <<=GE F4>>7> 

?>4E>44 3 6O =5 E<>65F5 

6<45FL ?D54O4GM<5 DO4O, 

E >>F>DO<< 6O <>65F5 74-

E>F5FL E65D<FLEO 6> 6D5<O 

6O74=<O. �><5EF<F5 >>?<N 

EE5<O 6 D4=?, 5E?< 6O 

??4=<DG5F5 <E?>?L7>64FL 

>4>>=-?<5> 6<4 >?5=>>= 

?5=FO, GF>5O 6O45?<FL 

DO4. &>744 =5 5G45F D<E>4 

D47<474FL EE5<G.

?4=5?L 8 ?.

D
4

?
?

>
D

F 
8

 D
O4

>
68

6

4

2

7

5

3

1

=><5D4 ?<F56OE DO4>6

=><5D4 <7=4=>G=OE DO4>6; 

F<DD4 1 =4 MF>< >D4N 

G>47O645F =4 F>, GF> EE5<4 

=4G<=45FEO E <7=4=>G=>7> DO44

?>6F>DO=F5 MF< DO4O 

4?O E>744=<O G7>D4

6Oж<F5 <7=4=>G=O5 

DO4O E?564 =4?D46>

6Oж<F5 ?<F56O5 

DO4O E?D464 =4?56>

D4??>DF 6 ?.

8

6

4

2

7

5

3

1

MF< 4>?>?=<F5?L=O5 

?5F?< 6=5 >56545==>7> 

>D4E=O< D4??>DF4 

G7>D4 =Gж=O 4?O 54?4=E4 

>55<E 57> EF>D>=; 6Oж<F5 

<E F>?L>> 6 =4G4?5 

< >>=F5 G7>D4 

MF< ?<=<< 

>?D545?ONF =4G4?> 

< >>=5F D4??>DF4

?>6F>DO=F5 

MF< ?5F?< 4?O 

E>744=<O G7>D4

'F5=<5 DO4>6 =4 EE5<5

'F5=<5 D4??>DF4 =4 EE5<5

�5D4F<F5 6=<<4=<5, GF> <=EFDG>F<< =4?<E4=O 4?O 
?D>6O7O64=<O DO4>6 6?5D54-=4744, 4 =5 ?> >DG7G 
(5E?< 6O E>F<F5 6O74FL ?> >DG7G, F> 64< =G6=> 5G45F 
6O74FL ?> EE5<4<).  �E?< 6O G6<4<F5 E<<6>?, >7=4G4-
NM<= F>, GF> ?D>6O7O64FL =G6=> <7=4=>G=GN < ?<F5-
6GN EF>D>=O, < ?D< MF>< >= =4E>4<FEO =4 <7=4=>G=>< 
DO4G 3 ?D>6O6<F5 MF>F E<<6>?, E?54GO G>474=<O< 4?O 
?D>6O7O64=<O ?<F56>7> DO44, F4> >4> ?D< 6O74=<< ?> 
>DG7G =5F <7=4=>G=OE DO4>6.



%<<6>?O 6 MF>= >=<75 5O?< D47D45>F4=O F4>, GF>5O 
E >4=>7> 677?O44 =4 =<E 6O <>7?< G7=4FL >4> <>6=> 
5>?LL5 > ?5D5>D5M<64=<OE >>E, >>F>DO5 64< ?D54EF><F 
6O74FL. �=< >E=>64=O =4 EF4=44DF=OE E<<6>?4E, <E-
?>?L7G5<OE ED54< 6O74?LM<F, => O <E =5<=>7> <7<5=<-
?4, GF>5O >FD464FL G=<>4?L=O5 <4=<?G?OF<< E ?5F?O<<, 
>>F>DO5 O ?D<6>6G 6 MF>= >=<75. �?47>44DO <<, EE5<4 
4>?6=4 <4>E<<4?L=> ?>E>4<FL =4 64L5 <745?<5, GF>5O 
6O <>7?< E ?57>>EFLN >F?<G<FL >4=> ?5D5>D5M<64=<5 
>F 4DG7>7>. �77?O=G6 =4 E<<6>?, 6O <>65F5 >?D545?<FL 
=4?D46?5=<5 ?5D5>D5M<64=<O; F>, >4> ?5F?< 5O?< 
?D>6O74=O 4> =57> < >4> <E =5>5E>4<<> ?D>6O7O64FL 6> 
6D5<O D45>FO =44 >>E>=. � >464><G E<<6>?G 6 EE5<5 
5EFL ?>OE=5=<O =4 F>= 65 EFD4=<F5, G?D>M4NM<5 E65D>G 
E> EE5<>=, ?>MF><G 45F4?< 74?><<=4FL =5 >5O74F5?L=>.

' E<<6>?>6, >5>7=4G4NM<E ?5D5>D5M<64=<5, 5EFL 

3 >E=>6=O5 G4EF<, >>F>DO5 <>6=> G6<45FL =4 EE5<5 
=<65.

�O45?5==4O >D4E=O< G4EFL � O6?O5FEO E4<>= 646=>= 
G4EFLN, F4> >4> >=4 ?>>47O645F, >4> 5G45F 6O7?O45FL 
6<4<<4O G4EFL >>EO < 6 >4>>< =4?D46?5=<< >>E4 5G45F 
?5D5>D5M<64FLEO. -F> >>E4, ?5D5>D5M5==4O 6?D46>, 
?D< 6O74=<< >>F>D>= 6O >EF46?O5F5 6E?><>74F5?L=GN 
E?<FG 74 D45>F>=. �5F?< ?D>6O7O64NFEO >4> ?<F56O5.

�F>D4O ?> 646=>EF< G4EFL �, 6O45?5==4O E<=<<, 
>F=>E<FEO > >FD57>G >>EO, >>F>DO= ?D>6O7O645FEO 74 
?5D6>= G4EFLN. �5F?< G4EF< � 6E5744 5G4GF <7>5D465=O 
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=44 ?5D6>= 4<47>=4?L=>= ?<=<5= G4EF< � 6 >>E5, ?5-
D5>D5M5==>= =4?56> (>4> =4 D<EG=>5), <?< =44 6F>D>= 
4<47>=4?L=>= ?<=<5= G4EF< � 6 >>E5, ?5D5>D5M5==>= 
=4?D46> (>4> 6 >>E5 6 65DE=5= G4EF< EE5<O). &4> >4> 
>>E4 ?5D5>D5M<645FEO 6?56>, 6E?><>74F5?L=4O E?<F4 
>EF46?O5FEO ?5D54 D45>F>=. �5F?< G4EF< � ?D>6O7O64-
NFEO >4> <7=4=>G=O5, 4 ?5F?< G4EF< � 6 65DE=5= >>E5 4 
>4> ?<F56O5.

�O45?5==4O 75?5=O< G4EFL � =5 646=4 4?O E?>E>54 
?D>6O7O64=<O >>EO =4 F5>GM5< DO4G. �<5EF> MF>7> >=4 
?>>47O645F, >4> =4 ?D54O4GM5< DO4G ?D>6O7O64?<EL 
?5F?<, >>F>DO5 5G4GF D>D<<D>64FL >>EG. �5F?< G4EF< 
� 6E5744 5G4GF <7>5D465=O ?>4 4<47>=4?L=>= E5>F<5= 
G4EF< �. � MF>< ?D<<5D5 ?5F?< ?D54O4GM57> DO44 ?D>-
6O7O64?<EL >4> <7=4=>G=O5. �?O F4><E >>E, >4> 6 MF>< 
?D<<5D5, 745 6O 55D5F5 <7=4=>G=O5 ?5F?< < ?5D5>D5M<-
645F5 <E 4?O ?D>6O7O64=<O >4> <7=4=>G=OE =4 ?D>F<6>-
?>?>6=>= EF>D>=5 >>EO (<?< ?5D5>D5M<645F5 ?<F56O5 
?5F?< E ?<F56O<<, >4> 6 6O45?5==>= >D4E=O< >>E5), 
MF4 G4EFL E<<6>?4 =5 5G45F <<5FL 5>?LL>7> 7=4G5=<O. 
�4=4>> 64< 5G4GF 6EFD5G4FLEO E?GG4<, >>744 6E5 ?5F?< 
?D54O4GM57> DO44 5G4GF ?<F56O<< (<?< <7=4=>G=O<<, 
<?< >4>>=-?<5> <E >><5<=4F<5=), => ?D< ?5D5>D5-
M<64=<< >>EO 6O 5G45F5 ?D>6O7O64FL 6E5 ?<5> G4EFL 
<7 =<E ?>-D47=><G. �>=<<4=<5 MF>7> ?>76>?<F 64<: 
4) G554<FLEO, GF> 6O 6O65F5 >>EG 6 ?D46<?L=>< <5EF5 
?>?>F=4, 677?O=G6 =4 ?D54O4GM<= DO4 < E>?>EF46<6 57> 
E ?5F?O<< G4EF< �; 5) =5 F5D74FL E55O <OE?O<< > F><, 
GF> 6 >>E5 <>65F 5OFL >L<5>4. �=O<< E?>64<<, 44, 64< 
45=EF6<F5?L=> =G6=> ?D>6O7O64FL MF< ?<F56O5 ?5F?< 
<7=4=>G=O<< <?< =4>5>D>F. �E?< 6O E>F<F5, F> <>65F5 
=5 >5D4M4FL 6=<<4=<O =4 G4EFL � < E>>=F5=FD<D>64FLEO 
=4 G4EFOE � < �, F4> >4> <<5==> >=< ?>>47O64NF, GF> 
=G6=> 45?4FL; G4EFL � =G6=4 4?O OE=>EF<. �4<5FLF5, GF>, 
6 >F?<G<5 >F G4EF< �, 6 G4EF< � =5 ?>>47O645FEO, >4><<< 
5O?< ?5F?< =4 ?D54O4GM5< DO4G. � =5= ?>>47O645FEO 
F>?L>> F>, >4> <E =44> ?D>6O7O64FL =4 F5>GM5< DO4G.

� =5>>F>DOE EE5<4E 6O <>65F5 6EFD5F<FL =5E>>?L-
>> E<<6>?>6 4?O >4=>7> < F>7> 65 ?5D5>D5M<64=<O. 
�5E>>?L>> F4><E E<<6>?>6 <>6=> 6EFD5F<FL 6 G5F65DF>= 
7?465, => 5>?LL<=EF6> <7 =<E =4E>4<FEO 6 ?OF>= < L5-
EF>= 7?464E.

� ?D<<5D5 6OL5 4?O >464>7> <7 ?5D5>D5M<64=<= 
5EFL 464 E<<6>?4. �>7L<5< ?5D6O= E<<6>? (2/2 ��) 
6 >4G5EF65 ?D<<5D4. �4<5FLF5, GF> <7=4G4?L=> 6 G4EF< 

�=4F><<O E<<6>?>6

?4=5?L 8 ?.
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2/2 �� (2 =4 2 ?56O< ?5D5>D5M<64=<5<): E=OFL 2 ? =4 6E?F, 
>EF46<FL ?5D54 D45>F>=, ?D>6O74FL �<F2, 74F5< �<F2 E 6E?F

2/2 ��� (2 =4 2 ?D46O< <7=4=>G=O< ?5D5>D5M<64=<5<): E=OFL 2 ? =4 6E?F, 
>EF46<FL 74 D45>F>=, ?D>6O74FL �<F2, 74F5< ?D>6O74FL �7=2 E 6E?F

2/2 ��� (2 =4 2 ?56O< <7=4=>G=O< ?5D5>D5M<64=<5<): E=OFL 2 ? =4 6E?F, 
>EF46<FL ?5D54 D45>F>=, ?D>6O74FL �7=2, 74F5< ?D>6O74FL �<F2 E 6E?F



�
4

6
=

4
O 

<
=

D
>

D
<

4
F

<
O

19

� =4 ?D46>< E<<6>?5 ?5F?< 5O?< ?<F56O<<, 6 F> 6D5<O 
>4> 6 G4EF< � =4 ?56>< E<<6>?5 >=< 5O?< <7=4=>G=O<<. 
�>MF><G 6O 5G45F5 ?5D5>D5M<64FL 2 <7=4=>G=O5 ?5F?< 
74 744=NN EF5=>G, GF>5O >=< EF4?< 46G<O ?<F56O<< ?5F-
?O<<. %D46=<F5 6O45?5==GN G4EFL � E >464O< <7 4DG7<E 
=45>D>6 E<<6>?>6. &4>>= 6<4 ?5D5>D5M<64=<O ?<F5-
6>= =4 <7=4=>G=GN <?< <7=4=>G=>= =4 ?<F56GN G4EF> 
<E?>?L7G5FEO 6 >>E4E-?<=<OE (E<. EFD4=<FG 14), <4GM<E 
>F >D4O 4> >D4O 6O74=>7> ?>?>F=4, 4 =5 65DF<>4?L=>, >4> 
>>EO->>?>==O.

�4?55 ?D<6545=O 4>?>?=<F5?L=O5 E<<6>?O, >>F>DO5 
6O <>65F5 6EFD5F<FL. �=< 444GF 64< ?D54EF46?5=<5 
> D47=>>5D47<< >>E <7 D57<=>>, 6>?NG5==OE 6 MFG >=<7G. 
� =5>>F>DOE D57<=>4 =4E>4<FEO ?5D54 >>E>=, 6 =5>>F>-
DOE 4 74 =5=. � =5>>F>DOE E?GG4OE D57<=>< ?5D5>D5-
M<64NFEO E D57<=>4<<, 4 6 =5>>F>DOE 4 D57<=>< ?5-
D5>D5M<64NFEO E ?<F56O<< <?< <7=4=>G=O<< ?5F?O<<. 
�?OFL 65, 6=<<4F5?L=> E?54<F5 74 ?5F?O<< G4EF5= � < � 
< =5 745O64=F5 > F><, GF> ?5F?< G4EF< � ?>>47O64NF F>, 
>4> ?5F?< ?D>6O7O64?<EL 6 ?D54O4GM5< DO4G.

' =5>>F>DOE G7>D>6, >>F>DO5 6O 6 >E=>6=>< 6EFD5-
F<F5 6 ?OF>= < L5EF>= 7?464E, <=>7> ?>E>6<E 4DG7 =4 

4DG74 E<<6>?>6, >>F>DO5, 6>7<>6=>, 5G45F E?>6=> 
D47?<G4FL 6> 6D5<O 6O74=<O >>EO. � F4><E E?GG4OE 
>>EO 6O45?ONFEO D47=O<< F65F4<<, GF>5O >5?57G<FL 
?>=<<4=<5 EE5<O. &4> >4> 5O?> =5>5E>4<<> E>ED4=<FL 
E5D>5 74F5=5=<5 4?O <7=4=>G=OE ?5F5?L, ?>MF><G 5O?4 
D4E>D4L5=4 F>?L>> G4EFL � >>EO, < F>?L>> 55 ?<F56O5 
?5F?<, 4 =5 <7=4=>G=O5. �4> < 6 ?D54O4GM5< ?D<<5D5, 
=5>>F>DO5 <7 MF<E >>E <<5NF =5E>>?L>> E<<6>?>6, 6 74-
6<E<<>EF< >F F>7>, >4><<< 5O?< ?5F?< G4EF< � 6 ?D5-
4O4GM5< DO4G. �4644O 65DE<O >>EO <<55F >4<=4>>6O= 
F65F, ?>MF><G 6O <>65F5 >5D4M4FL 6=<<4=<5 F>?L>> =4 
F65F < =5 E<>FD5FL =4 G4EFL � E<<6>?4. &4>65 E?54G5F 
>F<5F<FL, GF> > >464><G >F45?L=><G F65FG >F=>E<FEO 
>>E4, ?5D5>D5M5==4O 6?D46> < ?5D5>D5M5==4O 6?56>. 
&4>, 4?O 75?5=OE >>E 65DE=<= =45>D E<<6>?>6 >F=>E<FEO 
> 2/2 ?D46><G ?5D5>D5M<64=<N, 4 =<6=<= =45>D E<<-
6>?>6 >F=>E<FEO > 2/2 ?56><G ?5D5>D5M<64=<N.
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2/2 ��� (2 =4 2 ?D46O< <7=4=>G=O< ?5D5>D5M<64=<5<): E=OFL 
2 ? =4 6E?F, >EF46<FL 74 D45>F>=, ?D>6O74FL �<F2, 74F5< 
?D>6O74FL �7=2 E 6E?F
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2 ? =4 6E?F, >EF46<FL ?5D54 D45>F>=, ?D>6O74FL �7=2, 74F5< 
?D>6O74FL �<F2 E 6E?F
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%=OFL 3 ? =4 6E?F, >EF46<FL 74 D45>F>=, 
?D>6O74FL �7=1, �<F1, �7=1, 74F5< �7=3 E 6E?F

%=OFL 3 ? =4 6E?F, >EF46<FL 74 D45>F>=, 
?D>6O74FL �<F3, 74F5< (�7=1, �<F1, �7=1) E 6E?F

%=OFL 3 ? =4 6E?F, >EF46<FL 74 D45>F>=, 
?D>6O74FL �7=1, �<F1, �7=1, 74F5< �<F3 E 6E?F

%=OFL 3 ? =4 6E?F, >EF46<FL 74 D45>F>=, ?D>6O74FL 
�<F1, �7=1, �<F1, 74F5< (�<F1, �7=1, �<F1) E 6E?F

%=OFL 3 ? =4 6E?F, >EF46<FL 74 D45>F>=, ?D>6O74FL 
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74F5< �<F2 E 6E?F
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=4 6E?F, >EF46<FL ?5D54 D45>F>=, ?D>6O74FL �<F2, 
74F5< �<F2 E 6E?F

2/2 ��� (2 =4 2 ?D46O< <7=4=>G=O< ?5D5>D5M<64-
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?D>6O74FL �<F2, 74F5< ?D>6O74FL �7=2 E 6E?F
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E=OFL 2 ? =4 6E?F, >EF46<FL ?5D54 D45>F>=, ?D>6O74FL �7=2, 
74F5< ?D>6O74FL �<F2 E 6E?F

E=OFL 2 ? =4 6E?F, >EF46<FL 74 D45>F>=, ?D>6O74FL �<F2, 
74F5< (�<F1, �7=1) E 6E?F.

E=OFL 2 ? =4 6E?F, >EF46<FL ?5D54 D45>F>=, ?D>6O74FL �7=1, 
�<F1, 74F5< �<F2 E 6E?F

E=OFL 2 ? =4 6E?F, >EF46<FL 74 D45>F>=, ?D>6O74FL �<F2, 
74F5< (�7=1, �<F1) E 6E?F
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�?O MF>= >=<7< O ?>47>F>6<?4 4<74==O 15 E6<F5D>6 < 4>-
E5EEG4D>6 F4>, GF>5O <E <>6=> 5O?> 6O74FL E G>474==O-
<< 6 >=<75 >>E4<< <?< 4DG7<<< >>E4<< =4 64L 6O5>D. 
�E?< L<D<=4 G>474==>= >>EO D46=4 L<D<=5 >>EO, =4 
>>F>DGN 6O 55 74<5=O5F5, < >=< >55 ?D>6O7O64NFEO 
>4<=4>>6O< >>?<G5EF6>< ?5F5?L, F> 6E5 6 ?>DO4>5. �E?< 
MF< 465 >>EO D47?<G4NFEO ?> L<D<=5, F> 64< =44> 5G45F 
E>>F65FEF65==> 4>546<FL <?< G546<FL ?5F?<, >>F>DO5 
=5 6E>4OF 6 G7>D >>EO. �E?< 6O5D4==O= 64<< ?D54<5F 
>4564O 6 <F>75 <<55F 4DG7>5 >>?<G5EF6> ?5F5?L <7-74 
6O5>D4 >>EO (>>EO >4=>= L<D<=O <>7GF <<5FL D47=>5 
G<E?> ?5F5?L), F> 64< =G6=> 5G45F <7<5=<FL G<E?> 
?5F5?L. �4<5F>< > F><, GF> 45?4FL 6 F4><E E<FG4F<OE, 
6>?NG5=O 6 <=EFDG>F<< > ?D>5>F4<.

'F>5O G?D>EF<FL E<5L<64=<5 < E>54<=5=<5 >>E, 
O D47D45>F4?4 E<EF5<G, >>F>DGN =47O64N «M>6<64?5=-
F>< GG?>G=>= 6O7><» (-'�). -'� >>EO, ?D<6545==O= 
6 <=EFDG>F<OE, ?>>47O645F, E>>?L>> ?<F56OE ?5F5?L 
=5>5E>4<<> 4?O ?>?GG5=<O L<D<=O, D46=>= L<D<=5 
>>EO ?D< ?N5>< 65E5 ?DO6<. &4>, =4?D<<5D, 5E?< 6O 
E>F<F5 E6O74FL N5>G E> EFD4=<FO 265, => E>F<F5 74<5-
=<FL >>?>==O <7 �->5D47=OE G7?>6 (#94) =4 �4>D4<5 
(#145), F> <>65F5 E<5?> ?D<EFG?4FL, ?>F><G GF> 6 <=-
EFDG>F<OE > =<< E?54G5F, GF> -'� >464>= D465= 32. �>, 
?D54?>?>6<<, 6O D5L<F5 74<5=<FL 55 =4 'E?>6=5==GN 
D57<=>G < 67GF (#82), G5= -'� D465= 18. %>FL <E -'� 
D47?<G4NFEO, 6O <>65F5 <E?>?L7>64FL 6O5D4==GN >>EG, 
4>546<6 14 4>?>?=<F5?L=OE ?<F56OE ?5F5?L, =5 6E>4O-
M<E 6 G7>D (?> 7 E >464>= EF>D>=O >F >>EO).

�>F 5M5 =5E>>?L>> ?D<<5D>6 F>7>, >4> -'� D45>-
F45F 6 MF>= >=<75:

" �E?< 6 G7>D5 <E?>?L7G5FEO >>E4 E -'� D46=O< 9, 6O 
<>65F5 74<5=<FL 55 =4 4DG7GN >>EG E -'� D46=O< 9, 
<?< <E?>?L7>64FL >>EG E -'� D46=O< 7 < 4>546<FL 
2 ?5F?<, =5 6E>4OM<E 6 G7>D, <?< 6O <>65F5 <E?>?L-
7>64FL >>EG E -'� D46=O< 13 < G546<FL 4 ?5F?<, 
>>F>DO5 =5 5G4GF 6E>4<FL 6 G7>D.
�> <=>7<E <><E L45?>=4E > ?D>5>F4< <E?>?L7G5F-
EO L<D>>4O ?4=5?L <7 >>E, >>DG65==4O ?<F56O<< 
?5F?O<<. �E?< >>EO, >>F>DO5 6O 6O5D4?<, <<5NF 
<5=LL<= -'�, G5< >D<7<=4?L=O5, F> 6O <>65F5 
4>546<FL D46=>5 >>?<G5EF6> ?5F5?L E >464>= EF>D>-
=O EGM5EF6GNM5= GG?>G=>= 6O7><, GF>5O =5 5O?> 
D47=<FO. �E?< 6O5D4==O5 64<< >>EO =5<=>7> L<D5 
>D<7<=4?L=OE (F. 5. <E -'� 5>?LL5), F> 6O <>65F5 
G5D4FL =5E>>?L>> ?<F56OE ?5F5?L E >464>= <7 EF>-
D>=. ,<D<=4 6O5D4==>= 64<< >>EO 746<E<F >F <=-
EFDG>F<< > <745?<N, 4 6 =5>>F>DOE E?GG4OE 5M5 < >F 
57> D47<5D4. / >F45?L=> G?><<=4N >5 MF>< 6 >464>< 
=45>D5 <=EFDG>F<=.

" �E?< -'� >>EO 6 G7>D5 D465= 42, 6O <>65F5 74<5-
=<FL 55 >>E>= E -'� D46=O< 14 + 2 >>EO E -'� D46-
=O< 8 (?> >4=>= E >464>= EF>D>=O 5>?LL>= >>EO) + 
12 ?5F5?L, =5 6E>4OM<E 6 G7>D (14+8+8+12=42). 
�O <>65F5 <E?>?L7>64FL 4 <7=4=>G=O5 ?5F?< 6 ?<-
F56OE DO44E <564G >>E4<< (?> 2 G >464>7> <7 >D456). 
�?< 6O <>65F5 4>546<FL D57<=>G 2×2 <564G >>E4-
<<, GF>5O <E?>?L7>64FL 12 4>?>?=<F5?L=OE ?5F5?L: 
<5=LL4O >>E4, 74F5< ?D>6O74FL �7=2, �<F2, �7=2, 
5>?LL4O >>E4, 74F5< ?D>6O74FL �7=2, �<F2, �7=2, 
74F5< 6=>6L <5=LL4O >>E4. �?>F=>EFL 6O7>< D57<=>< 
2×2 =5 5G45F ?>?=>EFLN EE>64 E ??>F=>EFLN GG?>G-
=>= 6O7><, => 55 5G45F 4>EF4F>G=> 6 F4>>< =55>?L-
L>< >FD57>5, >E>55==> GG<FO64O F>, GF> D57<=>< 
<<5NF E6>=EF6> D4EFO7<64FLEO.

" �5>>F>DO5 >>EO <<5NF -'� D46=O= ?>?>6<=5 ?5F?<. 
�5 ?G74=F5EL. / 4>546<?4 4D>5< 74F5<, GF>5O E45?4FL 
-'� >4> <>6=> 5>?55 F>G=O<. �4=4>> 5?47>44DO 
?D<D>4=>= M?4EF<G=>EF< ?DO6< =5 EFD4L=> ?D>6O-
74FL =4 1/2 <?< 1 ?5F?N <5=LL5. �E?< 6O <E?>?L7G5-

%<EF5<4 M>6<64?5=F4 
GG?>G=>= 6O7>< (-'�)
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F5 F>?L>> 1 >>EG, F> E<5?> 6O6<F5 ?> >DG7G 665DE <?< 
6=<7 4> 5?<64=L57> F5?>7> G<E?4 < =5 5>=F5EL, 5E?< 
?>=44>5<FEO 4>546<FL <?< G546<FL 5M5 >4=G ?5F?N. 
�4?D<<5D, 5E?< 64< =G6=> G5F=>5 G<E?> ?5F5?L, 
6 F> 6D5<O >4> G 64E <E =5G5F=>5 G<E?> <?< =4>5>D>F. 
�E?>?L7GO >><5<=4F<N <7 =5E>>?L><E >>E, E=4G4?4 
E?>6<F5 6E5 -'� 6<5EF5, 4 ?>F>< G65 6O6<F5 ?> 
>DG7G 665DE <?< 6=<7.

�E?< 6O E>F<F5 <E?>?L7>64FL G7>DO E >>E4<< <7 MF>= 
>=<7< 6 ?D>5>F5 E>5EF65==>= D47D45>F><, 4 =5 
6 >4=>< <7 ?D<6545==OE 745EL, F> 6>F =5E>>?L>> D5>>-
<5=44F<=:

" �EE>4O <7 ??>F=>EF< GG?>G=>= 6O7>< 6O <>65F5 
?>=OFL, =4E>>?L>> L<D>>>= 5G45F >>E4, ?D< ?><>-
M< -'�. %=4G4?4 E6O6<F5 >5D475F, GF>5O >F5=<FL 
??>F=>EFL 6O74=<O GG?>G=>= 6O7><, 4 74F5< D4745?<F5 
-'� ?> ??>F=>EF< =4 E4=F<<5FD. �4?D<<5D, -'� 
�<F>7> L56D>=4 (#115) D465= 27,5. �E?< 64L4 ??>F-
=>EFL GG?>G=>= 6O7>< D46=4 1,8 ?5F?< =4 E4=F<<5FD, 
F>, GF>5O >F<5D<FL 4?<=G �<F>7> L56D>=4 6 64L5= 
?DO65, D4745?<F5 27,5/1.8=15,28 E< (?>?GG<6L<=EO 
D57G?LF4F O 5O >>DG7?<?4 4> 15).

$47D454FO64O E6>< E>5EF65==O5 <745?<O, ?><=<F5, GF> 
D4EG5F -'� 4 MF> F>?L>> >F?D46=4O F>G>4. �>7GF 5OFL 
< 4DG7<5 =N4=EO. �4?D<<5D, =5E>>?L>> >>E, D4745?5=-
=OE <7=4=>G=>= ?5F?5=, <>7GF =4G4FL EFO7<64FLEO >4> 
D57<=><. �=O<< E?>64<<, 6E5744 6O6<F5 >5D475F ?5D54 
=4G4?>< D45>FO.

�E?< 6O E>F<F5 <E?>?L7>64FL G7>DO E >>E4<< <7 MF>= 
>=<7< 6 дDG7>< ?D>5>F5, F> 6>F =5E>>?L>> E>65F>6:

" �E?< 6 <=EFDG>F<OE > ?D>5>FG G>474=O ??>F=>EFL 
GG?>G=>= 6O7>< < ?D54?>?4745<4O L<D<=4 >>EO, F> 6O 
<>65F5 D4EEG<F4FL -'�. �4?D<<5D, 5E?< ??>F=>EFL 
GG?>G=>= 6O7>< 64L57> ?D>5>F4 D46=4 2 ?5F?O< =4 
E4=F<<5FD, 4 L<D<=4 >D<7<=4?L=>= >>EO D46=4 9 E<, 
F> -'� >D<7<=4?L=>= >>EO D465= 18 (2×9=18). �O 
<>65F5 74<5=<FL >D<7<=4?L=GN >>EG =4 ?N5GN <7 
?D<6545==OE 6 >=<75 E -'� D46=O< 17318.
�E?< 6 6O5D4==>< 64<< G7>D5 G>474=4 F>?L>> ??>F-
=>EFL 6O7>< >>EO, => =5 GG?>G=>= 6O7><, F> F>744 64< 
?>=44>5<FEO E6O74FL >>EG c G>474==>= ??>F=>EFLN 
6O7><, GF>5O >?D545?<FL =5>5E>4<<O= D47<5D E?<FO. 
�>E?5 MF>7> =5>5E>4<<> 5G45F ?D>6O74FL >5D475F GG-
?>G=>= 6O7>< MF>= E?<F5=, GF>5O >?D545?<FL 55 ??>F-
=>EFL, < F>?L>> 74F5< D4EEG<FO64FL -'�. �4?D<<5D, 

5E?< 6 64L5< G7>D5 44=>, GF> L<D<=4 >D<7<=4?L=>= 
>>EO 4>?6=4 5OFL 12,5 E<, < 6O 6<4<F5, GF> E?<F4 
8-7> D47<5D4 (5 <<) 445F 64< =G6=GN L<D<=G ?D< 
6O74=<< >5D47F4 >>EO, F> 74F5< 6O ?D>6O7O645F5 >5-
D475F GG?>G=>= 6O7>< ?D< ?><>M< E?<F 8-7> D47<5D4, 
GF>5O =4=F< 55 ??>F=>EFL. �4?D<<5D, 6O G6<45?<, GF> 
??>F=>EFL GG?>G=>= 6O7>< D46=4 1,8 ?5F5?L =4 1 E<, 
7=4G<F, 55 -'� 5G45F 221/2, ?>F><G GF> 64< ?>FD5-
5G5FEO 22,5 ?<F56OE ?5F?<, GF>5O 74?>?=<FL L<D<=G 
>D<7<=4?L=>= >>EO 6 12,5 E< (1.8×12,5=22,5).
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�O74=<5 >5D47F>6

�D4==5 646=> 6O74FL >5D47FO, >>744 6O <7GG45F5 
=>6O5 >>EO < M>E?5D<<5=F<DG5F5 E >><5<=4F<O<< >>E 
< ?DO6<. -F> 646=> 4?O >?D545?5=<O ??>F=>EF< 6O7>< 
(>>?<G5EF64 ?5F5?L < DO4>6 =4 1 E<) 4> =4G4?4 ?D>5>F4. 
�5>>F>DO5 ?D>5>FO 6 MF>= >=<75 =5 ?>?=>EFLN ?D>-
6O7O64NFEO G7>D4<< <7 >>E(O). � <=EFDG>F<OE > =<< 
O ?D<65?4 <=D>D<4F<N > ??>F=>EF< =5 F>?L>> >>E, 
=> < =5 6E>4OM<E 6 G7>D ?5F5?L. �46=> 6O74FL >5D47FO 
4?O F5E < 4?O 4DG7<E. � =5 M>>=><<FL ?DO6G. �?O =5 
6E>4OM<E 6 G7>D ?5F5?L, =4?D<<5D, ?<F56OE <?< <7=4-
=>G=OE, =G6=> 45?4FL >5D47FO >4> <<=<<G< =4 >644D4F5 
12,5 E<; G5< 5>?LL5 >5D475F, F5< F>G=55 6O D4EEG<F45F5 
??>F=>EFL 6O7><. $45>F4O E >>E4<<, ?D>6O7O64=F5 >4=G 
>>?>==G <7 >>E 6 55 ?>?=GN L<D<=G <?< ?D>6O7O64=F5 
>>?<G5EF6> ?5F5?L, ?D<6545==>5 6 <=EFDG>F<OE ?> ??>F-
=>EF< 6O7>< 4?O 5>?55 >DG?=OE G7>D>6 <7 >>E. %45?4=F5 
>F45?L=O= >5D475F 4?O >464>= <7 =<E. �>EF<D4=F5 >46-
4O= >5D475F < 6OEGL<F5 57>; F4> 6O E<>65F5 G6<45FL, 
>4> E55O ?>6545F 7>F>6>5 <745?<5 ?>E?5 EF<D>< < EGL><. 
�5>>F>D4O ?DO64, 5G4GG< ?>EF<D4==>=, D4E?D46?O5FEO 
< D4E>DO645FEO (?D< MF>< G65?<G<64OEL 6 D47<5D5), 
4 =5>>F>D4O (?>4E>4OM4O 4?O <4L<==>= EF<D><) >5OG=> 
D4EFO7<645FEO. �E?< 6O ?D>?GEF<F5 MF>F L47, F> ?>E?5 
EF<D>< <745?<O 64E <>65F 644FL =5?D<OF=O= END?D<7. 
'F>5O ?>?=>EFLN ?>=OFL, >4> 6545F E55O >4>4O-?<5> 
?DO64 <?< G7>D <7 >>E, E?5D64 =G6=> ?>=OFL, GF> E =<<< 
<>6=> < =5?L7O 45?4FL. �?O <5=O =5>6<44==O5 END-
?D<7O ?D><EE>4OF >5OG=> F>744, >>744 O ?D>5GN 6O=F< 
74 7D4=<FO F>7>, GF> >465FEO <=5 6>7<>6=O<. �5 >F-
=>E<F5EL > 6O74=<N >5D47F>6 >4> > DGF<=5 4 6>E?D<-
=<<4=F5 57> >4> ?D<>?NG5=<5, ?>?=>5 =>6OE >F>DOF<= 
< END?D<7>6.

�4> <E?D46<FL >>EG, 
?5D5>D5M5==GN =5 6 FG EF>D>=G

�O645F F4>, GF> 6O E>F5?< ?5D5>D5EF<FL >>EG 6 >4=>< 
=4?D46?5=<< (=4?D<<5D, E?D464 =4?56>), => E?GG4==> 
?5D5>D5EF<?< 55 =4>5>D>F (F. 5. E?564 =4?D46>). �E?< 
6O >5=4DG6<?< >L<5>G ED47G 65 6> 6D5<O ?D>6O7O64-
=<O DO44, F> <>6=> ?D>EF> D4E?GEF<FL 57> 4> >L<5>< 
< <E?D46<FL 55. �> 5E?< 6O 74<5F<?< >L<5>G 7>D474> 
?>765, F> ?>?D46<FL 55 5G45F E?>6=55, => 6E5 D46=> 
6>7<>6=>. �>F F5 <5F>4O, >>F>DO<< ?>?L7GNEL O:

" $4E?GEF<F5 ?>?>F=> 4> <5EF4, 745 6O >L<5?<EL, < <E-
?D46LF5 57>. �<5> E?54<F5 74 F5<, E>>?L>> DO4>6 6O 
D4E?GE>45F5, GF>5O =5 74?GF4FLEO 6 6O74=>< ?>?>F=5, 
?<5> >?D545?<F5, 745 6O =4E>4<F5EL, E65D<6 57> E> 
EE5<>=.

" 'F>5O =5 ?5D56O7O64FL 5>?LLGN G4EFL ?D>5>F4, 
D4E?GEF<F5 F>?L>> F5 ?5F?<, 6 >>F>DOE 6O E>65DL<?< 
>L<5>G. -F> 4>6>?L=> E?>6=4O F5E=<>4, => 5= <>6=> 
6OGG<FLEO =4 G4<6?5=<5 5OEFD>, >>744 ?>=<<45LL, 
GF> 5?47>44DO 5= =5 ?D<45FEO ?5D56O7O64FL ?>?>6<=G 
?<F56>= EF>D>=O E6<F5D4. �>?OF>4 =5 ?OF>4 4 4465 
5E?< =5 ?>?GG<FEO, F> 64< 6 ?N5>< E?GG45 ?D<L?>EL 
5O D4E?GEF<FL ?>?>F=> 4> >L<5><. �?O MF>7> =44> 
E?GEF<FL >F=>EOM<5EO > >L<5>G=><G <5EFG ?5F?<, 
E46<=G6 <E E 64L5= E?<FO, < 4>>GD4F=> ?>FO=GFL 
74 =<E, GF>5O >=< D4E?GEF<?<EL, >EF46?OO ?5E5=>G. 
�4F5< E?GM5==O5 ?5F?< =44> =5 E?5L4 ?D>6O74FL DO4 
74 DO4>< ?D< ?><>M< 4>?>?=<F5?L=>= E?<FO. / ?D>-
6O7O64N 6E5 DO4O E ?<F56>= EF>D>=O, ?>F><G GF> 
F4> ?D>M5 6O74FL =55>?LL<5 ?<F56O5 < <7=4=>G=O5 
?5F?<, ?>MF><G <=5 =5 ?D<E>4<FEO ?5D56>D4G<64FL 
<745?<5. �E?< 6O =<>>744 D4=LL5 =5 =45<D4?< E?G-
M5==OE ?5F5?L, F> O ?>E>65FGN >5D4F<FLEO > 64L5<G 
?N5<<><G E?D46>G=<>G <?< 6<45>GD>>4< ?> >E=>64< 
6O74=<O. �D<<5G4=<5: MF4 F5E=<>4 D45>F45F F>?L>> 
6 F5E E?GG4OE, >>744 ?5F?<, ?D>6O74==O5 =44 >>E>=, 
>>F>DGN 6O <E?D46?O5F5, D4E?GE>4NFEO E6>5>4=>, 
>4> 5E?< 5O 6O <E?D46?O?< >4=> ?5D5>D5M<64=<5 
6 ?D>EF>= >>?>==5 <7 >>E 4ô4. �E?< 4DG7>5 ?5D5>D5-
M<64=<5 >>EO ?D>6O7O64?>EL 6OL5 F>7>, >>F>D>5 
6O E>F<F5 <E?D46<FL, < 7445=EF6>64?> F>?L>> G4EFL 
<7 ?5F5?L, >>F>DO5 6O E>F<F5 D4E?GEF<FL, F> G 64E =5 
?>?GG<FEO D4E?GEF<FLEO =<65 MF>7> ?5D5>D5M<64=<O. 
-F> >F=>E<FEO > G7>D4< <7 >>E, >>F>DO5 <E?>?L7GNF 
?<=<<, 4 =5 >>?>==O (E<. EFD4=<FG 14). �4< <>65F 
?>=44>5<FLEO D4E?GEF<FL >4=> <?< =5E>>?L>> ?5D5>D5-
M<64=<= E >464>= <7 EF>D>= =5?D46<?L=>7> ?5D5>D5-
M<64=<O, F4> GF> E>>D55 6E57> ?D>M5 5G45F ?D>EF> 
D4E?GEF<FL 6E5 6O74=>5 ?>?>F=> 6??>FL 4> >L<5><.

�>744 D4E?GEF<FL ?5F?< =56>7<>6=> <?< >>744 6O < 4G-
<4FL =5 E>F<F5 > F><, GF>5O D4E?GEF<FL 6O74=>5 ?>?>F-
=>, F> G 64E 5EFL FD< 64D<4=F4: >4<= ?D>46<=GFO=, >4<= 
?D>EF>= < >4<= E4<O= ?D>EF>=.

�E?D46?5=<5 >L<5>>
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" �D< ?D>46<=GF>< 64D<4=F5 =44> >5D574FL ?5F?N 
6 DO4G =44 =5?D46<?L=O< ?5D5>D5M<64=<5<, D4E-
?GEF<FL 4> 57> >D456 < 74F5< D4E?GEF<FL 65EL DO4 
E ?5D5>D5M<64=<5<. �=>6L ?D>6O6<F5 DO4 E ?5D5>D5-
M<64=<5< F>= ?DO65=, >>F>DGN 6O D4E?GEF<?<. �>744 
?5D5>D5M<64=<5 >>EO 5G45F E=>64 ?D>6O74=>, 64< 
=G6=> 5G45F <E?>?L7>64FL FD<>>F46=O= L>6, GF>5O 
?D<E>54<=<FL <E?D46?5==O= DO4 > DO4G 6OL5. �=5 
?D<E>4<?>EL F4> 45?4FL =5E>>?L>> D47, <, ?D<7=4NEL 
64<, ?D>F5EE MF>F =5 <7 65E5?OE. &DG4=> ?D46<?L=> 
=4=F< DO4, 745 =G6=> >5D574FL ?5F?N; >D><5 F>7>, 
G<E?> D4E?GE>45<OE ?5F5?L 6 >464>< =4?D46?5=<< 
4>?6=> 5OFL 4>EF4F>G=> 5>?LL<<, GF>5O >EF46<FL 
>FD57>> ?DO6<, >>F>DO= 74F5< <>6=> 5O?> 5O E?>-
>>==> ?D>6O74FL.

" �D>EF>= 64D<4=F 4 MF> <>= ?N5<<O= FDN> 4?O 
<E?D46?5=<O =5?D46<?L=>7> ?5D5>D5M<64=<O. �44> 
E6O74FL >4<= <?< 464 DO44 <45=F<G=OE ?5F5?L ?>65DE 
=5?D46<?L=OE (E<. 665DEG). �45=F<G=4O ?5F?O ?56<F 
?>65DE =5?D46<?L=>7> ?5D5>D5M<64=<O, E>DO64O 
57>, < E>74464O 6?5G4F?5=<5, GF> >>E4 ?5D5>D5M5=4 
?D46<?L=>.

" �>E?54=<= 64D<4=F 4 >EF46<FL >L<5>G >4> 5EFL 
< 745OFL > =5=.

�>4EG5F DO4>6 <564G ?5D5>D5M<64=<O<<

�E?< 64<, >4> < <=5, =5 6E5744 G445FEO 74?><=<FL, E>>?L-
>> DO4>6 6O G65 ?D>6O74?< ?>E?5 ?5D5>D5M<64=<O, F> 
64< 5G45F <=F5D5E=> G7=4FL, >4> <E EG<F4FL. �D< ?5-
D5>D5M<64=<< 6E5744 >5D47G5FEO =55>?LL4O 4OD>G>4. 
�>G5<G-F> MF4 4OD>G>4 >5OG=> 5>?LL5 =4 <7=4=>G-
=>= EF>D>=5, ?>MF><G O <E?>?L7GN 55 6 E6>5= F5E=<>5 
?>4EG5F4. / ?><5M4N ?4?5F 6 4OD>G>G E <7=4=>G=>= 
EF>D>=O <>57> 6O74=>7> ?>?>F=4, 74F5< << 65 >F>DO64N 
?5E5=>< =44 4OD>G>>=, GF>5O <E 5O?> ?D>M5 ?>4EG<F4FL. 
�5D64O ?5E5=>4 4 ?5D5>D5M<64=<5, 4 74F5< >4644O 
>EF46L4OEO ?5E5=>4 O6?O5FEO DO4><, ?D>6O74==O< ?>E?5 
=57>. &4> GF>, 5E?< 6O =4EG<F4?< 7 DO4>6 6OL5 4OD>G><, 
>4> =4 D>F> 6OL5, F> MF> 7=4G<F, GF> 6O ?D>6O74?< DO4 
E ?5D5>D5M<64=<5< + 5M5 6 DO4>6.

�>=G<>>< ?4?LF4 D47654<F5 DO4O <564G ?5D5>D5M<64=<O<<, GF>5O 

<E 5O?> ?D>M5 EG<F4FL

З45EL O ?D>6O74?4 <45=F<G=GN >D<7<=4?L=>= ?5F?N (55?>= ?DO65= 

4?O =47?O4=>EF<) GF>5O E?DOF4FL =5?D46<?L=>5 ?5D5>D5M<64=<5
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%���'.-�� $/� (�%): �D<546<FL 1 ? =4 >D4N 7>D?>6<=O 6 MF>< DO4G, 74F5< 

=4 >464>< ?<F56>< DO4G 6 (6, 5, 7, 8, 6, 5) D47. �45D4FL 2 ? 6 =4G4?5 E?54GNM<E 

2 (1, 1, 2, 2, 2, 3) ?<F56OE DO4>6, 74F5< 3 (4, 4, 4, 4, 4, 4) ? 6 =4G4?5 E?54GNM57> 

1 (1, 2, 1, 1, 2, 2) ?<F56>7> DO44, 74F5< 4 ? 6 =4G4?5 E?54. 0 (1, 1, 1, 1, 1, 1) �<F. 

DO44, ?D>6O7O64O 4>546?5==O5 ?5F?< <7=4=>G=>= GG?>G=>= 6O7>>= 4 112 

(114, 116, 118, 120, 122, 124) ?5F5?L. 

�O74FL 557 ?D<546>> < G546>> 1 �7=. DO4. �5D574FL ?DO6G < ?5D5=5EF< ?5F?< 

=4 5G?46>G 4?O ?5F5?L <?< =<FL. 

%<>FDO =4 ?<F56GN EF>D>=G, ?5D5=5EF< ?5F?< E?<=>< >5D4F=> =4 E?<FG. �D<-

E>54<=<FL ?DO6G < 6O74FL G7>D ?> >?<E4=<N ?>?5D5> E?<=>< 18 (18; 19; 21,5; 

23; 23; 23) E<, 74>4=G<64O <7=4=>G=O< DO4><. �5D5=5EF< ?5F?< ?>?>G>< 

>5D4F=> =4 E?<FG.

% � � � � � � � � �  % � � � � �  �  � � � � ' � �

%���'.-�� $/� (�%): �O74FL 4> >>=F4 E?<=>< (G5<D4O <4D>5D), ?D>4>?64O 

6O74FL ?>?5D5> ?5F5?L ?>?>G>< F5< 65 >?G5>>< ?DO6<, 6O74FL �7= ? 4> 

<4D>5D4, G5D4FL <4D>5D, 6O74FL G7>D ?> >?<E4=<N 4> >>=F4 4 224 (228, 232, 

236, 240, 244, 248) ?5F?<.

�O74FL 557 ?D<546>> < G546>>, ?>>4 ?>?>F=> =5 4>EF<7=5F 14 (16,5; 18; 19,5; 

21,5; 24; 26,5) E< >F >>=F4 7>D?>6<=O, 74>4=G<64O �7=. DO4>< < ?D>6O74FL 

=4 2 DO44 <5=LL5, G5< 4?O ?56>7> ??5G4.

�4>DOFL 81 ? 6 =4G4?5 E?54. DO44, 74F5< 65 ? 6 =4G4?5 E?54. DO44 4 >EF45FEO 

78 (82, 86, 90, 94, 98, 102) ?5F5?L

�$��/Й $'���
�O74FL 557 ?D<546>> < G546>> 7,5 E<, 74>4=G<64O �<F. DO4><. 

%���'.-�� $/�  (�%): �4>DOFL 16 ?, 6O74FL 4> >>=F4 4 >EF45FEO 62 (66, 70, 74, 

78, 82, 86) ?5F5?L. 

�>7L<<F5 <5=LLGN ?> D47<5DG E?<FG.

%���'.-�� $/�: �<F12 (14, 16, 12, 14, 16, 12), [�<F2, 1���] 12 (12, 12, 16, 16, 

16, 20) D47, 6O74FL �<F 4> >>=F4 4 >EF45FEO 74 (78, 82, 90, 94, 98, 106) ?5F-

?<. �4G4FL D57<=>G 2ô2; 6O74FL 557 ?D<546>> < G546>> 12,5 E<, 74>4=G<64O 

�<F. DO4><. �4>DOFL 6E5 ?5F?< 6 G7>D5.

����$,����
%>55D<F5 G4EF< <745?<O ?N5O< G4>5=O< 64< >5D47><.

$ � � � � � �  � �  � � � '  � � � � � � /

�E?>?L7GO E?<FG <5=LL57> D47<5D4, =45D4FL < ?D>6O74FL �<F114 (126, 138, 

150, 162, 178, 190) ?>?5D5> =<6=57> >D4O ?>?>G><. �4G4FL D57<=>G 2ô2; 

6O74FL 557 ?D<546>> < G546>> 7,5 E<. �4>DOFL 6E5 ?5F?< 6 G7>D5. �>6F>D<FL 

F> 65 E4<>5 4?O E?<=><.

%������&, ������� ,�� �& $������ �� ���' ������/ �� �%&����. %���'&, �%&���' �� ��������� 

� �$�%������&, � $'���' � %�����, ��&�� %������&, ,�� $'����, $����$�'���/ ��� �� �% 

�$���$�� �� 7,5 %� �& ���&� $'����, '&��/ ,�� �� �/� ����� �$� ����&����� �����&�.

47
 (

52
; 5

6;
 6

2;
 6

7,
5;

 7
2,

5;
 7

7,
5)

 E
<

87
,5

 (
92

,5
; 9

6,
5;

 1
03

; 1
08

; 1
13

; 1
18

) 
E<

18
 (

18
; 1

9;
 2

1,
5;

 2
3;

 2
3;

 2
3)

 E
<

28 E< 26,5 (28; 30,5; 32; 34,5; 35,5; 37) E<

6,5 (7,5; 8,5; 9; 9,5; 9,5; 10) E<

12
,5

 E
<

7,
5 

E<

� � � / �  $ ' � � �

� � � � ' � �

E7
<5

E7<5

% � � � � �

� $ � � / �  $ ' � � �

35,5 E<

7,5 E<

98 (99; 101,5; 103; 105,5; 106,5; 108) E<
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� / % � � � �  � � $ � & � � �

%<>FDO =4 �%, <E?>?L7GO >DG7>6GN E?<FG <5=LL>7> D47<5D4 < =4G<=4O >F 

?56>7> ??5G4, =45D4FL < ?D>6O74FL >4> ?<F56O5 81 (93, 102, 108, 114, 114, 

117) ?5F?N 6>>DG7 7>D?>6<=O. %>54<=<FL G4EF< <745?<O 4?O 6O74=<O ?> 

>DG7G; �� =4 =4G4?> >DG74. 

�4G4FL E D57<=>< 2ô1; 6O74FL 557 ?D<546>> < G546>> 5 E<.

%���'.-�� �$'�: *�<F2, 1���, �7=1; ?>6F>D<FL >F * 4> >>=F4 4 108 (124, 

136, 144, 152, 152, 156) ?5F5?L.

%���'.-�� �$'�: *�<F2, �7=2; ?>6F>D<FL >F * 4> >>=F4. �O74FL 557 ?D<546>> 

< G546>>, ?>>4 ?>?>F=> =5 4>EF<7=5F 23 E<. 

��%������ $/� $����$&�: �<F2, *6EF46<FL ?56GN E?<FG 6 ?5D54=NN EF5=>G 

F>?L>> GF> ?D>6O74==OE �<F ?, 74F5< 6=>6L ?D>6O74FL <E 74 744=<5 EF5=><, 

�<F1; ?>6F>D<FL >F * 4> F5E ?>D, ?>>4 =5 >EF4=5FEO 1 ?, =5 EG<F4O >>=5G=GN 

�<F1.  �4>D5?<FL.

 �4<5=4 >>E
�5D54 F5< >4> ?D<EFG?<FL > D4745?G, >7=4>><LF5EL E E<EF5<>= M>6<64?5=F4 

GG?>G=>= 6O7>< =4 E. 20.

� / � � $  � � %

-'� >>EO � D465= 9. -'� >>EO � D465= 7. �O <>65F5 <5=OFL L<D<=G >>E � 

< � 4> F5E ?>D, ?>>4 EG<<4 <E -'� ?D<5?<7<F5?L=> D46=4 16. -'� >>EO � 

D465= 12,5, F4><< >5D47>< 6O <>65F5 74<5=<FL >>EG <?< >>EO, -'� >>F>DOE 

6 EG<<5 64DL<DG5FEO >F 11 4> 14. �4<5=4 >>EO � <>65F 5OFL L<D5 <?< G65, 

=> ?><=<F5, GF> MF> <745?<5 6O65FEO ?>?5D5> < F4>>5 <7<5=5=<5 ?>6?<O5F 

=4 4?<=G <745?<O.

� � � � � � � � /  �  � � � � ' � % & � �  � � & � � ,

�E?< ?>E?5 74<5M5=<O >>EO G<E?> ?5F5?L <7<5=<?>EL, 74?><=<F5 D47=<FG 

<564G G<E?>< =45D4==OE 64<< ?5F5?L < G<E?>< =45D4==OE ?5F5?L, =5>5-

E>4<<OE 4?O G7>D4, < =5 745O64=F5 ?D<546?OFL <?< 6OG<F4FL MF< ?5F?< 

6 <=EFDG>F<OE. �>EO � < � 6?<ONF >4> =4 G<E?> ?5F5?L, =45D4==OE 6 =4G4?5 

6O74=<O, 4 F4>65 4?O E?<=>< < ?>?>G><, F4> < =4 >EF4?L=O5 7DG??O ?5F5?L.  

�N5>5 <7<5=5=<5 G<E?4 ?5F5?L, <E?>?L7>64==OE 6<5EF5 6 >>E4E � < �, F4>65 

6?<O5F =4 G<E?> ?5F5?L, 74>DOFOE 4> =4G4?4 ?D46>7> DG>464, < 6 >>=F5 G4EF< 

E ?5D5>D5M<64=<O<< ?D46>7> DG>464, 4> =4G4?4 D57<=>>. �4< F4>65 <>65F 

?>=44>5<FLEO <7<5=<FL G<E?> ?5F5?L =4 >D4F=>5 4.
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�<F ? =4 �%, �7= ? =4 �%

�7= ? =4 �%, �<F ? =4 �%

�D�: 2?6<, => =5 E?GE>4=F5 ?5F?< E ?56>= E?<FO; 6EF46LF5 ?D46GN E?<FG <564G 46G<O 
F>?L>> GF> ?D>6O74==O<< ?5F?O<< < E=>64 ?D>6O6<F5 ?5D6GN ?5F?N >4> ?<F56GN, E=<<<F5 
>55 ?5F?< E ?56>= E?<FO

�6�: �EF46LF5 E?<FG E <7=4=>G=>= EF>D>=O D45>FO 6 ?<F56GN <564G ?5D6>= < 6F>D>= 
?5F?O<< =4 ?56>= E?<F5 < ?D>6O6<F5 6F>DGN ?5F?N >4> ?<F56GN 74 ?5D54=NN EF5=>G; 
?D>6O6<F5 ?5D6GN ?5F?N >4> ?<F56GN, E=<<<F5 >55 ?5F?< E ?56>= E?<FO

2/1 ��� (2 =4 1 ?D46O< <7=4=>G=O< ?5D5>D5M<64=<5<): %=OFL 1 ? =4 6E?F, 
>EF46<FL 74 D45>F>=, ?D>6O74FL �<F2, 74F5< �7=1 E 6E?F

2/1 ��� (2 =4 1 ?56O< <7=4=>G=O< ?5D5>D5M<64=<5<): %=OFL 2 ? =4 6E?F, 
>EF46<FL ?5D54 D45>F>=, ?D>6O74FL �7=1, 74F5< �<F2 E 6E?F

2/2 �� (2 =4 2 ?D46O< ?5D5>D5M<64=<5<): %=OFL 2 ? =4 6E?F, >EF46<FL 74 D45>F>=, 
?D>6O74FL �<F2, 74F5< �<F2 E 6E?F

2/2 �� (2 =4 2 ?56O< ?5D5>D5M<64=<5<): %=OFL 2 ? =4 6E?F, >EF46<FL ?5D54 D45>F>=, 
?D>6O74FL �<F2, 74F5< �<F2 E 6E?F

2/2 ��� (2 =4 2 ?D46O< <7=4=>G=O< ?5D5>D5M<64=<5<): %=OFL 2 ? =4 6E?F, 
>EF46<FL 74 D45>F>=, ?D>6O74FL �<F2, 74F5< �7=2 E 6E?F

2/2 ��� (2 =4 2 ?56O< <7=4=>G=O< ?5D5>D5M<64=<5<): %=OFL 2 ? =4 6E?F, 
>EF46<FL ?5D54 D45>F>=, ?D>6O74FL �7=2, 74F5< ?D>6O74FL �<F2 E 6E?F

%=OFL 9 ? =4 6E?F, >EF46<FL ?5D54 D45>F>=, ?D>6O74FL �7=1, �<F1, �7=1, �D�, 
[�<F1, �7=1] 46464O, 74F5< (�7=1, �<F1, �7=1, �D�, [�<F1, �7=1] 46464O) E 6E?F
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� � % �  �

(?4=5?L =4 12 ?5F5?L; D4??>DF 8 DO4>6)

-'�: 9 ?5F5?L

$ / �  1  ( � % ) :  �7=2, �<F2, �7=4, �<F2, 

�7=2.

$ / �  2 :  �<F2, �7=2, �<F4, �7=2, �<F2.

$ / �  3  �  � % �  � % & � � , � / �  � � � 

$ / � / :  �O6<F5 ?<F56O5 < <7=4=>G=O5 

?5F?< ?> D<EG=>G.

$ / �  4 :  : [2/1 ���, 2/1 ���] 46464O.

$ / �  6 :  �7=1, 2/2 ��, �7=2, 2/2 ��, 

�7=1.

$ / �  8 :  [2/1 ���, 2/1 ���] 46464O.

�>6F. DO4O 138 4?O E>744=<O G7>D4.

� � % �  �

(?4=5?L =4 8 ?5F5?L; D4??>DF 16 DO4>6)

-'�: 7 ?5F5?L

$ / �  1  ( � % ) :  �<F2, �7=4, �<F2.

$ / �  2 :  P2, k4, p2.
$ / �  3  �  � % �  � % & � � , � / �  � � � 

$ / � / :  �O6<F5 ?<F56O5 < <7=4=>G=O5 

?5F?< ?> D<EG=>G.

$ / �  4 :  �7=2, 2/2 ��, �7=2.

$ / �  6 :  2/2 ��, 2/2 ��.

$ / � /  8 ,  1 0 ,  �  1 2 :  �<F.

$ / �  1 4 :  2/2 ���, 2/2 ���.

$ / �  1 6 :  �>6F>D<FL DO4 4.

�>6F. DO4O 1316 4?O E>744=<O G7>D4.

� � % �  �

(?4=5?L =4 18 ?5F5?L; D4??>DF 24 DO44)

-'�: 12,5 ?5F5?L

$ / �  1  ( � % ) :  �<F1, �7=1, �<F1, �7=3, 

�<F1, �7=1, �<F2, �7=1, �<F1, �7=3, 

�<F1, �7=1, �<F1.

$ / �  2 :  �7=1, �<F1, �7=1, �D�, �<F1, 

�7=1, �<F1, �7=2, �<F1, �7=1, �D�, 

[�<F1, �7=1] 46464O.

$ / �  3  �  � % �  � % & � � , � / �  � � � 

$ / � / :  �O6<F5 ?<F56O5 < <7=4=>G=O5 

?5F?< ?> D<EG=>G.

$ / �  4 :  [�7=1, �<F1] 46464O, �6�, 

�7=1, �<F1, �7=2, �<F1, �7=1, �<F1, 

�6�, �7=1, �<F1, �7=1.

$ / � /  6 3 1 3 :  �>6F. DO4O 235.

$ / �  1 4 :  %=OFL 9 ? =4 6E?F, >EF46<FL 

?5D54 D45>F>=, ?D>6O74FL �7=1, �<F1, 

�7=1, �D�, [�<F1, �7=1] 46464O, 

74F5< (�7=1, �<F1, �7=1, �D�, [�<F1, 

�7=1] 46464O) E 6E?F.

$ / � /  1 6 3 2 3 :  �>6F. DO4O 437.

$ / �  2 4 :  �>6F>D<FL DO4 4.

�>6F. DO4O 1324 4?O E>744=<O G7>D4.


